
2(𝑎 − 8) + 𝑎 + 20 = 

2𝑎 − 16 + 𝑎 + 20 = 

3𝑎 + 4

14𝑥5

7𝑥2
= 2𝑥3

𝑓(𝑥) = 1200 · 1.27𝑥

27% 𝑎 = 1 + 𝑟 𝑎 = 1 + (
27

100
) = 1.27



𝑓′(𝑥) = 3𝑥2 − 8𝑥

𝑓(0) = 3

𝑓′(𝑥) = 0

𝑥 − 𝑥 = 2



𝑎 𝑏

𝑎 =
𝑦2 − 𝑦1
𝑥2 − 𝑥1

=
19 − 17

6 − 5
=
2

1
= 2 

𝑏 = 𝑦1 − 𝑎𝑥1 = 17 − 2 · 5 = 7

𝑓(𝑥) = 2𝑥 + 7

𝑦 𝑥

𝑓(10) = 2 · 10 + 7 = 27

𝑦 (10, 27)

∫8𝑥3 𝑑𝑥 ⇔ 𝐹(𝑥) = 8 ·
1

3 + 1
𝑥3+1 + 𝑘 ⇔ 𝐹(𝑥) = 2𝑥4 + 𝑘

𝑘



𝑦 = −4.64𝑥 + 217

𝑥 𝑦

𝑚3

𝑎 𝑏 𝑏

𝑚3

𝑚3



𝑎 𝑎 = 1.0607 𝑏 𝑏 = 43175.0

𝑇2 =
log(2)

log(𝑎)
=

log(2)

log(1.0607)
≈ 11.762

2016 − 2017



|𝐴𝐶|

𝑎2 + 𝑏2 = 𝑐2

6.42 + 4.82 = |𝐴𝐶|2 ⇔ 

|𝐴𝐶| = √6.42 + 4.82 ⇔ 

|𝐴𝐶| = √64 ⇔ 
|𝐴𝐶| = 8

|𝐴𝐶|

∠𝐴 = sin−1 (
|𝐶𝐷|

|𝐴𝐶|
)

∠𝐴 = sin−1 (
4.8

8
) ⇔ 

∠𝐴 = 36.869𝑜



|𝐴𝐸|

∠𝐷 = 14𝑜

𝐸

180𝑜 − ∠𝐴 − ∠𝐷 = 180𝑜 − 36.869𝑜 − 14𝑜 = 129.131𝑜

|𝐴𝐸|

sin(𝐸)

|𝐴𝐷|
=
sin(𝐷)

|𝐴𝐸|

sin(129.131𝑜)

6.4
=
sin(14𝑜)

|𝐴𝐸|
⇔ 

sin(129.131𝑜) · |𝐴𝐸| = sin(14𝑜) · 6.4 ⇔ 
sin(129.131𝑜) · |𝐴𝐸|

sin(129.131𝑜)
=

sin(14𝑜) · 6.4

sin(129.131𝑜)
⇔ 

|𝐴𝐸| =
sin(14𝑜) · 6.4

sin(129.131𝑜)
⇔ 

|𝐴𝐸| = 1.99599

|𝐴𝐸| 1.99599𝑚 ≈ 2𝑚

𝐴𝐸𝐷

|𝐴𝐷|

𝑇𝐴𝐸𝐷 =
1

2
· |𝐷𝐸| · |𝐴𝐷| · sin⁡(D)

|𝐷𝐸| |𝐴𝐸|

sin(𝐷)

|𝐴𝐸|
=
sin(𝐴)

|𝐷𝐸|

sin(14𝑜)

1.99599
=
sin(36.869𝑜)

|𝐷𝐸|
⇔ 

sin(14𝑜) · |𝐷𝐸| = 1.99599 · sin(36.869𝑜) ⇔ 
sin(14𝑜) · |𝐷𝐸|

sin(14𝑜)
=
1.99599 · sin(36.869𝑜)

sin(14𝑜)
⇔ 



|𝐷𝐸| =
1.99599 · sin(36.869𝑜)

sin(14𝑜)
⇔ 

|𝐷𝐸| = 4.95022

𝑇𝐴𝐸𝐷 =
1

2
· 4.95022 · 6.4 · sin(14o) ⇔ 

𝑇𝐴𝐸𝐷 = 3.8322

3.8322𝑚2



𝑓

𝑓(𝑥) = 0.0025 · 𝑥2

𝑥 (𝑘𝑚/𝑡) 𝑓(𝑥)

𝑘𝑚/𝑡

𝑓(80) = 0.0025 · 802 = 16

𝑘𝑚/𝑡

12.5% 𝑟𝑥

𝑟𝑦 = ((1 + 𝑟𝑥)
𝑎 − 1) · 100%

𝑟𝑥

𝑟𝑦 = ((1 + (
12.5

100
))

2

− 1) · 100 = 26.5625%

12.5% 26.5625%



𝑓(𝑥) = 0.5𝑥1.5⁡𝑜𝑔⁡𝑔(𝑥) = 2 · √𝑥

[1; 3].

𝑇 = ∫ (𝑔(𝑥) − 𝑓(𝑥))
3

1

𝑑𝑥

𝐴 = ∫ (2 · √𝑥 − 0.5𝑥1.5)
3

1

𝑑𝑥 ⇔ [−0.06666666667 · 𝑥
3
2 · (3 · 𝑥 − 20)]

1

3

3 1

𝐴 = [−0.06666666667 · 3
3
2 · (3 · 3 − 20)] − [−0.06666666667 · 1

3
2 · (3 · 1 − 20)] = 2.67717

𝑔(𝑥) 𝑓(𝑥) 1 3 2.67717



𝑡

𝑓(𝑡) = −15 · 𝑒−0.12·𝑡 + 20

5 𝑡

𝑓(5) = −15 · 𝑒−0.12·5 + 20 = 11.76782546⁡⁡⁡ 𝐶⁡
𝑜

𝑓

𝑓′(𝑡) = 1.80 · 𝑒−0.12·𝑡

5 𝑓′

𝑓′(5) = 1.80 · 𝑒−0.12·5 = 0.9878609450

0.9878609450



𝑓(𝑥) = 𝑥2 − 30𝑥 + 400 +
500

𝑥
, 5 < 𝑥 < 25

𝑓(8) 8 𝑥′

𝑓(8) = 82 − 30 · 8 + 400 +
500

8
= 286.5

8 286.5𝑘𝑟



𝑓(𝑥) = 250

10 22.25

𝑓(𝑥)

𝑓′(𝑥) = 0

𝑓(𝑥)

14 18

𝑓′(14) = 2𝑥 − 30 −
500

𝑥2
= −4.5510 

𝑓′(18) = 2𝑥 − 30 −
500

𝑥2
= 4.4568



𝑓 [5; 15.97]

𝑓 [15.97; 25]

16

207.2495105 15.97911673 𝑓(𝑥)

http://www.matematikhjaelp.tk/

